

REVISION #2

August 25, 2025

Village of Orland Park

2025 Neighborhood Road Improvement Program

Various Locations

RFP 24-022

Lindahl Estimate No.: E24025_144TH

Contact: Rich Sheppard phone: (708) 499-2900

Attention: Jack Neven

Village of Orland Park

14700 Ravinia Avenue

Orland Park, IL 60462

144th Place

Description: 144th Place starting 182 feet East of Rte. 45 and continuing easterly 705 feet to the intersection of John Humphrey Drive

ITEM NO.	DESCRIPTION	QUAN	TITY	UNIT BID	BID EXT.
5.)	COMBINATION CONCRETE CURB AND GUTTER,	1,000	FOOT	34.75	\$ 34,750.00
	TYPE M-2.12				
7.)	COMBINATION CURB AND GUTTER REMOVAL	1,000	FOOT	5.45	\$ 5,450.00
10.)	H.M.A. DRIVEWAY REMOVAL & REPLACEMENT, 3"	112	SQ YD	52.00	\$ 5,824.00
14.)	WASHOUT BASIN	1	EACH	2,750.00	\$ 2,750.00
13.)	HOT-MIX ASPHALT SURFACE REMOVAL - 1-3/4"	2,200	SQ YD	3.25	\$ 7,150.00
19.)	HOT-MIX ASPHALT SURFACE REMOVAL - BUTT JOINT	2	EACH	315.00	\$ 630.00
20.)	BITUMINOUS MATERIALS- TACK COAT	500	LBS	0.01	\$ 5.00
25.)	AGGREGATE FOR TEMPORARY ACCESS	40	TON	42.00	\$ 1,680.00
30.)	HOT-MIX ASPHALT SURFACE COURSE, MIX "D", N50	300	TON	84.00	\$ 25,200.00
42.)	TRAFFIC CONTROL AND PROTECTION, SPECIAL	1	LSUM	34,500.00	\$ 34,500.00
N/A	CONCRETE FILL	1,000	LF	4.00	\$ 4,000.00
		TOTAL			\$ 121.939.00

NOTES & EXCLUSIONS

Two moves in to complete concrete work. One move in to complete all other work Final payment to be determined by actual quantity installed times unit price Pricing good for the 2025 construction season No Patching

Accepted and Agreed to By	
SIGNATURE:	

NAME: DATE:



REVISION #2

August 25, 2025

Village of Orland Park

2025 Neighborhood Road Improvement Program

Various Locations RFP 24-022

Lindahl Estimate No.: E24025_San

Contact: Rich Sheppard

phone: (708) 499-2900

Village of Orland Park 14700 Ravinia Avenue Orland Park, IL 60462

Attention: Jack Neven

San Luis Lane

Description: San Luis Lane from Capistrano Lane to 104th Ave.

ITEM NO	<u>DESCRIPTION</u>	QUANTITY	<u>UNIT BID</u>	BID EXT.
18.)	HOT-MIX ASPHALT SURFACE REMOVAL - 1-3/4"	2,700 SY	3.25	\$ 8,775.00
19.)	HOT-MIX ASPHALT SURFACE REMOVAL - BUTT JOINT	2 EACH	315.00	\$ 630.00
20.)	BITUMINOUS MATERIALS- TACK COAT	1,944 LBS	0.01	\$ 19.44
30.)	HOT-MIX ASPHALT SURFACE COURSE, MIX "D", N50	317 TON	84.00	\$ 26,628.00
42.)	TRAFFIC CONTROL AND PROTECTION	1 LSUM	7,500.00	\$ 7,500.00
,		OPTION 1 TOTAL		\$ 13 552 44

NOTES & EXCLUSIONS

One move in to complete work

No patching, no undercuts, no stone, no pavement marking

Final payment to be determined by actual quantity installed times unit price

Pricing good for the 2025 construction season

Accepted	and	Agreed	to By
----------	-----	--------	-------

SIGNATURE:		
NAME:		
DATE:		



Village of Orland Park 14700 Ravinia Avenue Orland Park, IL 60462

Attention: Jack Neven

August 25, 2025
Village of Orland Park
2025 Neighborhood Road Improvement Program
Various Locations
RFP 24-022

Lindahl Estimate No.: E24025_San

Contact: Rich Sheppard

phone: (708) 499-2900

1st, 2nd, & 3rd Avenue

Description: 1st, 2nd, & 3rd Avenue from 144th Street to 144th Place

ITEM NO	<u>DESCRIPTION</u>	QUAN	TITY	UNIT BID	BID EXT.
18.)	HOT-MIX ASPHALT SURFACE REMOVAL - 1-3/4"	3,500	SY	3.25	\$ 11,375.00
19.)	HOT-MIX ASPHALT SURFACE REMOVAL - BUTT JOINT	7	EACH	315.00	\$ 2,205.00
20.)	BITUMINOUS MATERIALS- TACK COAT	1,701	LBS	0.01	\$ 17.01
30.)	HOT-MIX ASPHALT SURFACE COURSE, MIX "D", N50	420	TON	84.00	\$ 35,280.00
42.)	TRAFFIC CONTROL AND PROTECTION	<u>, </u>	LSUM	2,500.00	\$ 2,500.00
		OPTION	1 TOTAL		\$ 51.377.01

NOTES & EXCLUSIONS

One move in to complete work

No patching, no undercuts, no stone, no pavement marking

Final payment to be determined by actual quantity installed times unit price

Pricing good for the 2025 construction season

Accepted	d and	Agreed	to	Ву
----------	-------	--------	----	----

SIGNATURE:	
NAME:	
DATE:	

CHANGE ORDER REQUEST



Village of Orland Park 14700 Ravinia Avenue Orland Park, IL 60462

& HR Green 2363 Sequoia Drive, Suite 101 Aurora, IL 60506

Attention: Robert Banach, Construction Engineer III

The following unit prices are submitted for approval:

August 25, 2025
Re: Village of Orland Park
2025 Neighborhood Road
Improvement Program
Various Locations
RFP # 24-022
Lindahl Project No. 25010
9750 Sidewalk Replacement,
Colored Concrete
AUP

	ITEM	QUAN	TITY_	UN	IIT PRICE	AMOUNT
AUP	Traffic Control & Protection	2	Day	\$	1,550.00	\$ 3,100.00
AUP	Sidewalk Removal (includes: brick removal, concrete underlayment, concrete, sand under bricks)	5,250	SF	\$	5.00	\$ 26,250.00
AUP	Colored Concrete Option	5,250	SF	\$	22.00	\$ 115,500.00
		AUP Tot	al:			\$ 144,850.00

NOTES & EXCLUSIONS

Sidewalk work to be completed at the same time as 143rd Street sidewalk

Final payment to be determined by actual quantity installed, times unit price

Brick removal to be dumped at Village's Public Works Yard

Tree removal, stump removal, landscaping lights and electrical removal, and tree grate removal by others prior to G&M Cement starting work

Detectable warnings, if any, to be paid per contract price Includes QA/QC testing
No asphalt patching
Sprinkler repairs by others

Sincerely,

R. A. Sheppard

Lindahl Brothers, Inc.

Accepted and Agreed to By:

SIGNATURE:	
NAME:	
DATE:	

CHANGE ORDER REQUEST



Village of Orland Park 14700 Ravinia Avenue Orland Park, IL 60462 & HR Green 2363 Sequoia Drive, Suite 101 Aurora, IL 60506

Attention: Robert Banach, Construction Engineer III

The following unit prices are submitted for approval:

Revised

Option 3

August 25, 2025
Re: Village of Orland Park
2025 Neighborhood Road
Improvement Program
Various Locations
RFP # 24-022
Lindahl Project No. 25010
143rd Street Sidewalk

OPTION 3

	ITEM	QUAN	ΓΙΤΥ	UN	IIT PRICE		AMOUNT
AUP	Traffic Control & Protection	5	Day	\$	1,550.00	\$	7,750.00
AUP	Sidewalk Removal (includes: brick removal, concrete underlayment, concrete, sand under bricks)	8,405	SF	\$	5.00	\$	42,025.00
AUP	Regular Concrete Replacement, 5" (Includes 2" Stone Cushion)	1,505	SF	\$	11.10	\$	16,705.50
AUP- Option 3	Colored Concrete Option	6,900	SF	\$	22.00	\$	151,800.00
		AUP Tot	al:			S	218,280,50

NOTES & EXCLUSIONS

Final payment to be determined by actual quantity installed, times unit price

Brick removal to be dumped at Village's Public Works Yard

Tree removal, stump removal, landscaping lights and electrical removal, and tree grate removal by others prior to G&M Cement starting work

Detectable warnings, if any, to be paid per contract price Includes QA/QC testing

No asphalt patching

Sprinkler repairs by others

Sincerely,

R. A. Sheppard

Lindahl Brothers, Inc.

Accepted and Agreed to By:

SIGNATURE:	
NAME:	
DATE:	